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1. Write the number in expanded form.  
a) 227 = Two hundreds + two tens + seven ones or 200 + 20 +7   
b) 359 = Three hundreds + five tens + nine ones or 300 + 50 + 9  
c) 494 =  Four hundreds + nine tens + four ones or 400 + 90 + 4  
d) 118 = One hundreds + one tens + eight ones or 100 + 10 + 8  
e) 436 = Four hundreds + three tens + six ones or 400 + 30 +6 

 

 
2. Arrange the numbers in ascending order.  

a) 12, 29, 33, 42  
b) 36, 55, 71, 89  
c) 11, 50, 67, 93  
d) 9, 48, 87, 98  
e) 59, 64, 78, 99 

 
  

3. Arrange the numbers in descending order. 
a) 99, 92, 57, 13 
b) 95, 65, 45, 35 
c) 94, 86, 68, 12 
d) 90, 39, 29, 19 
e) 93, 71, 15, 8 
 
 

4. Circle the even number. 

a) ⑥, 55, 81, 49 

b) 37, 89, 94, 71 
c) 45, 66, 23, 19 
d) 99, 80, 89,73 
e) 13, 69, 25, 44 

 
5. Circle the odd number. 

a) 34, 45, 38, 80 
b) 11, 52, 64, 76 
c) 24, 29, 98, 88 
d) 99, 62, 12, 76 
e) 82, 77, 44, 50 

 
6. Fill in the blanks with an ordinal number. 

a) Seventh (7th) 
b) Fourth (4th) 
c) Third (3rd) 
d) Tenth (10th) 
e) First (1st) 

 

 



Answer for Exercise A (Page 12) Complete the table 

 

NUMBER HUNDREDS TENS ONES EXPANDED FORM 

147 1 4 7 100 + 40 + 7 

135 1 3 5 100 + 30 +5 

112 1 1 2 100 + 10 + 2 

168 1 6 8 100 + 60 +8 

190 1 9 0 100 + 90 + 0 

103 1 0 3 100 + 0 + 3 

156 1 5 6 100 + 50 + 6 

 

Answer for Exercise B (Page 12) Fill in the blanks: 

101 

180 

113 

130 

117 

129 

192 

125 

169 

106  

 

 

 

 

 

Answer for Exercise A (Page 17) Write the numbers in increasing order 

71, 72, 76 

31, 100, 128 

100, 102, 105 

96, 169, 196 

145, 165, 175 

108, 168, 186

 

Answer for Exercise B (Page 18) Write the numbers in decreasing order 

80, 74, 18 

200, 154, 135 

120, 102, 101 

138, 134, 131 

197, 179, 117 

199, 119, 109 

 

Answer for Exercise A (Page 20) Write E for even and O for Odd: 

E 

E 

O 

O 

E 

O 

 

Answer for Exercise B (Page 21) Write  

 

     T      E     N    D    U    L    K     A     R  

 

  

 


